

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SJW 4297U

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER	DEFORMED	1,262.43	1,262.43
1	FRONT BUMPER LOWER LIP	SERVICEABLE	280.75	-
1	FRONT BUMPER LOWER GRILLE	CRACKED	487.50	355.00
2	FRONT BUMPER FOG LAMP LH / RH @\$265.70	O/S CRACKED	531.40	230.00
2	FRONT BUMPER FOG LAMP GRILLE LH / RH @\$168.35	O/S DENTED	336.70	134.00
2	FRONT BUMPER LAMP LH / RH @\$163.60	O/S CRACKED	327.20	163.60
2	FRONT BUMPER SENSOR @\$183.00	NECESSARY	366.00	366.00
1	FRONT BUMPER ABSORBER	CRACKED	270.75	140.00
1	FRONT BUMPER REINFORCEMENT	TO REPAIR SEE LABOUR	675.60	-
2	FRONT BUMPER RETAINER LH / RH @\$35.25	NECESSARY	70.50	40.50
1	FRONT GRILLE	CRACKED	566.25	566.25
1	FRONT GRILLE EMBLEM	NECESSARY	81.50	81.50
1	FRONT NUMBER PLATE BRACKET	DENTED	181.50	25.00
2	HEADLAMP LH / RH @\$983.75	CRACKED	1,967.50	1,020.00
1	BONNET	TO REPAIR SEE LABOUR	1,282.50	-
1	BONNET SEAL	SERVICEABLE	74.25	-
1	BONNET LOCK	TO REPAIR SEE LABOUR	202.40	-
1	BONNET HOOK	SERVICEABLE	79.50	-
1	RADIATOR SUPPORT PANEL	TO REPAIR SEE LABOUR	1,113.75	-
1	RADIATOR AIR DEFLECTOR	CRACKED	81.60	81.60
1	AIR BAFFLER	DEFORMED	60.40	60.40
1	FRONT WINDSCREEN GLASS	CRACKED	1,456.67	1,020.00
1	FRONT WINDSCREEN MOULDING	NECESSARY	102.30	102.30
1	STEERING AIRBAG	BUSTED	1,071.42	1,071.42
1	STEERING AIRBAG CLOCKSPRING	NECESSARY	293.34	188.00
1	PASSENGER AIRBAG	BUSTED	1,285.72	995.00
1	DASHBOARD	TORN	2,457.86	1,472.00
1	AIRBAG ECU	NECESSARY	1,123.30	900.00

Report Ref No. CS3/AIG19015265/Fyf3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	IMPACT SENSOR @\$363.34	NECESSARY	726.68	650.00
2	FRONT SAFETY BELT LH / RH @\$644.60	JAMMED	1,289.20	1,240.00
1	BOOT LID	BUCKLED	1,796.25	1,100.00
1	BOOT LID OUTER HANDLE	DENTED	565.38	265.00
1	BOOT LID NAMEPLATE 'PASSAT'	NECESSARY	68.13	62.00
1	BOOT LID NAMEPLATE 'TSI'	NECESSARY	68.13	38.00
2	BOOT LID LAMP LH / RH @\$410.51	CRACKED	821.02	530.00
2	BOOT LID HINGE LH / RH @\$97.84	SERVICEABLE	195.68	-
1	BOOT LID LOCK	SERVICEABLE	186.61	-
1	BOOT LID CATCH	SERVICEABLE	65.43	-
1	BOOT LID SEAL	SERVICEABLE	252.81	-
1	BOOT LID INNER TRIM	SERVICEABLE	174.25	-
1	REAR BUMPER	BUCKLED	1,462.48	910.00
1	REAR BUMPER LOWER	DENTED	281.23	167.00
2	REAR BUMPER CHROME LH / RH @\$180.25	BROKEN	360.50	258.00
1	REAR BUMPER CENTRE GUIDE	DENTED	87.46	87.46
2	REAR BUMPER RETAINER LH / RH @\$42.69	CRACKED	85.38	60.00
1	REAR BUMPER REINFORCEMENT	DENTED	641.20	423.00
1	REAR BUMPER UNDERCOVER	CRACKED	64.15	64.15
4	REVERSE SENSOR @\$288.78	SHORT CIRCUIT (2PCS ONLY)	1,155.12	250.00
4	REVERSE SENSOR O-RING @\$0.83	NECESSARY	3.32	3.32
2	TAIL LAMP LH / RH @\$683.61	BROKEN	1,367.22	849.00
1	REAR END PANEL (UPPER)	TO REPAIR SEE LABOUR	482.75	-
1	REAR END PANEL (LOWER)	TO REPAIR SEE LABOUR	635.00	-
1	REAR END PANEL TRIM	CRACKED	110.70	110.70
1	SPARE WELL	CRACKED	970.50	870.00
1	SPARE WELL COVER	SERVICEABLE	241.75	-
1	RHR FENDER	TO REPAIR SEE LABOUR	1,263.00	-
1	EXHAUST SILENCER	SERVICEABLE	963.75	-
1	RHR DOOR CHROME MOULDING	SERVICEABLE	89.56	-

Report Ref No. CS3/AIG19015265/Fyf3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	RHR DOOR (NPA)	TO REPAIR SEE LABOUR	-	-
2	REAR CHASSIS MEMBER LH / RH (NPA)	TO REPAIR SEE LABOUR	-	-
			34,565.23	18,212.63
	SPECIAL NETT ITEMS			
1	SET FRONT NUMBER PLATE (SN)	DENTED	50.00	25.00
1	FRONT WINDSCREEN SEALANT (SN)	NECESSARY	60.00	30.00
1	ERP BRACKET (SN)	NECESSARY	26.00	26.00
1	PHV STICKER (SN)	NECESSARY	20.00	20.00
1	REAR NUMBER PLATE (SN)	MISSING	50.00	25.00
1	REAR WINDSCREEN SEALANT (SN)	NECESSARY	60.00	30.00
3	JOINT SEALANT @\$60.00 (SN)	NECESSARY	180.00	80.00
			446.00	236.00
	<u>LABOUR</u>			
	RENEW FRONT WINDSCREEN GLASS.		200.00	120.00
	RENEW STEERING AIRBAG, PASSENGER AIRBAG, AIRBAG ECU, FRONT SAFETY BELTS, ETC. CONDUCT ELECTRICAL DIAGNOSIS, RESET FAULT CODES, CONFIGURATION AND PROGRAMME ALL RELATED. CHECK ALL LIGHTINGS & WIRINGS FOR PROPER FUNCTIONS.		400.00	220.00
	RENEW DASHBOARD ASSY.		280.00	150.00
	SPRAY PAINT ON FRONT AFFECTED & REPLACEMENT PARTS.		750.00	400.00
	TO RENEW FRONT DAMAGED PARTS, REPAIR & STRAIGHTEN AFFECTED AREA.		1,000.00	480.00
	REMOVE & TRANSFER BOOT LID COMPONENTS.		120.00	80.00
	REMOVE & REINSTALL REAR TRIMMINGS, REAR SEATS TO FACILITATE REPLACEMENT.		150.00	60.00
	REMOVE & REINSTALL FUEL TANK.		150.00	50.00
	REMOVE & REINSTALL REAR WINDSCREEN GLASS.		200.00	100.00
	RENEW EXHAUST SILENCER.	NOT NECESSARY	120.00	-
	ANTI RUST PROOFING ON REAR REPLACEMENT & AFFECTED AREA.		100.00	60.00
	RENEW REVERSE SENSOR.		80.00	50.00

Report Ref No. CS3/AIG19015265/Fyf3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	CHECK REAR LIGHTINGS & WIRINGS.		50.00	30.00
	SPRAY PAINT ON REAR AFFECTED & REPLACEMENT PARTS.		1,800.00	800.00
	TO RENEW REAR DAMAGED PARTS, REPAIR & STRAIGHTEN AFFECTED AREA. INCLUSIVE OF THE REPAIR OF FRONT BUMPER REINFORCEMENT, BONNET, BONNET LOCK, RADIATOR SUPPORT PANEL, REAR END PANEL (UPPER), REAR END PANEL (LOWER), RHR FENDER, RHR DOOR AND REAR CHASSIS MEMBER LH / RH.		2,500.00	760.00
			7,900.00	3,360.00
	GRAND TOTAL		42,911.23	21,808.63

RECOMMENDED COST OF LUMP SUM REPAIRS		17,400.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS3/AIG19015265/Fyf3e2-1

MARKET VALUE: \$22,000.00(EST)-LTA REIMBURSEMENT VALUE: \$16,831.00=NETT VALUE: \$5,169.00

PARASURAM S/O SHANMUGAM

**Asst. Automotive Assessor** 

X.S.

**ADRIAN LING WAI PING** 

B.Eng,AMSOE,AMIRTE,AMSAE-A,M.MATAI

**Licensed Appraiser** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.